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QUESTION 1

Which code is correct? 

A. Runnable r = "Message" -> System.out.println(); 

B. Runnable r = () -> System.out::print; 

C. Runnable r = () -> {System.out.println("Message");}; 

D. Runnable r = -> System.out.println("Message"); 

E. Runnable r = {System.out.println("Message")}; 

Correct Answer: C 

Reference: https://www.oracle.com/technical-resources/articles/java/architect-lambdas-part1.html 

 

QUESTION 2

var numbers = List.of(0,1,2,3,4,5,6,7,8,9); 

You want to calculate the average of numbers. 

Which two codes will accomplish this? (Choose two.) 

A. double avg = numbers.stream().parallel().averagingDouble(a -> a); 

B. double avg = numbers.parallelStream().mapToInt (m -> m).average().getAsDouble(); 

C. double avg = numbers.stream().mapToInt (i -> i).average().parallel(); 

D. double avg = numbers.stream().average().getAsDouble(); 

E. double avg = numbers.stream().collect(Collectors.averagingDouble(n -> n)); 

Correct Answer: BD  
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QUESTION 3

Which interface in the java.util.function package can return a primitive type? 

A. ToDoubleFunction 

B. Supplier 

C. BiFunction 

D. LongConsumer 

Correct Answer: A 

Reference: http://java.boot.by/ocpjp8-upgrade-guide/ch02s07.html 

 

QUESTION 4

Given: 

What code must you insert on Line 1 to enable the code to print Hello world? 

A. Hello.Greeting myG = new Hello.Greeting() myG.sayHi(); 

B. Hello myH = new Hello(); Hello.Greeting myG = myH.new Greeting(); myG.sayHi(); 

C. Hello myH = new Hello(); Hello.Greeting myG = myH.new Hello.Greeting(); myG.sayHi(); 
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D. Hello myH = new Hello(); Greeting myG = new Greeting(); myG.sayHi (); 

Correct Answer: B 

 

 

QUESTION 5

Given: 

Which two are secure serialization of these objects? (Choose two.) 

A. Define the serialPersistentFields array field. 

B. Declare fields transient. 

C. Implement only readResolve to replace the instance with a serial proxy and not writeReplace. 

D. Make the class abstract. 

E. Implement only writeReplace to replace the instance with a serial proxy and not readResolve. 

Correct Answer: AC 
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